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   new mean = 8.53 new s.d. = 1.38 
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4 age 0 – 9 10 – 19 20 – 29 30 – 39 40 – 59 60 - 69 

freq. density 1.9 0.6 0.7 1.1 0.65 0.6 

 

 

 

 

 

 

 

 

 

 

 

 

Key:    1 8     represents  18 yrs 

 

 

 

State one advantage of the stem plot over the histogram 

(e.g.  the stem plot preserves the original, individual data) 
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 No. of different committees 12
4C= = 495  

 

No. of different committees with 2 men & 2 women  7 5
2 2C C= ´ = 210  
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The linear transformations of x and y will have no effect on the correlation coefficient. 

 

Regression line of y on x  
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for  y=100   x̂ = 70.5  

 

 

The y on x line is the only option since x is a controlled variable. 
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[Total   60] 


